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SECTION-l (Ji=
2- Attemptany five parts. 10=2x5 e Ui.hu’lul.gdf 24
(i) Ifthe length of Simple Pendulum is doubled, Tf:'./uj.y&-‘u"»,_’r( Ul A ouJ,,.,vf (1)

{ii) Differentiate between Longitudinal Waves and Transverse Waves.

(i)  What is meant by SONAR?

(iv)  Find the frequency of 3 sound wave, when spead .»05m 39;_; 2 340ms™!
of sound is 340me™! and wavelength is 0.5m.

(v)  Define Pitch of Sound. On which factors does it depend?

(vi}  State Laws of Reflection

(vii) Define Critical Angle.

{viii) What is the difference betwe=n Real and Virtual Image?

3- Attemptanvy five parts. 10 =2x5

(i) Define Electroscope.

(i) Distinguish between Watt and I<iiowatt ho@

(i)  State Jouls's Law znd write its formuia. Ob

(iv} Describe two uses of Electicsiatics.

{(v) Write difference between Earth Wire and Live Wirés\/

(vi)  Write the factors affecting Induced & . f. O

(vii) State Lenz's Law, N @

(viii) Name the types of Transformer %

4- Attemptany five parts. 10=2x5

what will be the change in it Time Feriod?

%

~E QAL a2 aligs JS!’-’E' (ii)
fesi U= (SONAR) Lbr (i)
i3, .j/i—#c‘*y.(}‘fz;ks Lo (iv)

e g MRSNTE B EEST ()
“E LT (vi)

L w A A (i)

.:l:...) ’V(UV/)LUIU)’A 9l J’ (viii)
,égful.'id—f]'ésc.d:( -3
s AL (i)

- /ulr AL '—-‘»‘:’wh (i)
NS S
LML 20 (iv)
- /T,’lf SR ALY ist F1asf (v)
:L':gmw eI 'be..' (vi)
S /Lu}ué A il
-J/ub(wwﬁu—l (vm)

-é//.».i&"’féb_df -44 )i

-

.Ju':

(i Differentiate betwes: Analogue and Digital Electronics. -¢.LW/VC\, ,/0 '*if, 24 Juw ()
(i) Wirite the truth table of OR-Gate and also draw their circuit diagram. ..c_...,fu Lhiad /u' ,@:/‘}J (i1)
(iii)  Differentizie between Primary and Secondary Memary S P S L YT Juﬁuw /14 (iii)
(iv) Define Dala and Information ‘: ..:J/U ﬁwulk; (iv)
(v)  Define internet. EoSlesEm (v
(vi) Describe four hazards of Radiations. ~SE okl e L 25k, (i)
(vii}y Define backg: ound Radiations -..,...»'fg/“ui,.:iu_ﬁ {vii)
(viil} Define Nuclear Transmutation -_i'_; /og" nﬂ/ﬁ."z (wviii)
SECTION-Il s>
NOTE: - Attem pt any two questions. - fe Rl e 3 _od
5.(A) Provethat v = f A 4 v = f?. .wz"_,t (—#)_5
5 Ver J'Jb::: U’G»./‘L Vfrf:ﬂ c..bu) ':liud_ yr‘):_., < - Al " 5 /1y .V -r( (Y)
(B) The power of Convex Lens is 5 D. At wha distance the object should be placed from lens that
its real and 2 tmes larger image is formed?
6.(A) Find equvalent resistance of a series circuit of resistances. 4 -._L/;‘)-"L by /‘.J.f:f.: RRL o () B
5 grl.f,‘»'\;c A1as (P ..,Ju /./UJ_'- H 50V e afiy L % 100 v )’VA' S +2C L (L)
(B) A poin: charge of + 2C is ransiarred irom a poin: at potentnal 100 V to a point al potential 50 V.
What would be the energy stuplied by the charge?
7.(A) Explain AND Cperaion. 4 4!0 mﬂ., .m,‘_) -2 e 4 f,anUJ-’f gl (-7
Write al=o symbol and truth table of AND Gate
5 P Bl NS B0l 26 o e 525 v 80w s, Gred
(B) Coball-60 is a radioactive element with half-life of 5 25 years.

What fraction of the original sampis will be lefl after 28 years?
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Note: You have four choices for each objective type question as A, B, C and D. _u:f,.sd’?jze‘m.q.g{élr
The choice which you think is correct, fill that circle In front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circies will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and lsavs cthers biank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of CBJECTIVE PAPER.
Q.No.1 1 A
{1) D.C motor converts:- Ld—‘d’ S S TER] (n
{A) Mechanical energy into electrical energy ;}:J.)lug-}?b@/"f;"‘c
{B) Mechanicat energy into chemical energy & ALE £ }'9"3')
(C) Elzctrical energy into mechanical energy & —IJ"t' ?./'U-(’. g
(D) Electrical energy into chemical snergy e L,x/tu--n}/'fgﬁ)'?'

(2) The step-up transformer.- Y S S R 2)
(A) Increases the input currant ..L-L»*»féé.’._ ol (B) Increases the input vcltage q_':az:( -;,.:.,;c);
(C) Has more turns in the primary coil (? i/j:,énhv- ;fd,fl,;.f
(D) Has less turns in the secondary coil uu.»rff RS ~1e

{3} The particles emitted from a hot Cathode surface arez;.%ed - -95.-7.12-‘/ g;b-c..vgf;ﬂ/()}ﬁ,td' (3)
(A) Positive ions 7~ 'r’-'/—;' {B) Negative ions ~17 {C) Protons :;;'.-{ (D) Electrons /,/‘?

(4} The basic operation performed by a Computer is.- -.;...;,?-'4*-\5,9(;',_{ (4)
(A) Arithmetic operation .-:,2;;7.-1% 2 (B) Non-arithmatic'dperation w‘f-'{f..f_a,,s".-!uc
(C) Logic operation 4Tk (D) Both A and C U#s/S o A

(5) We can get information almost about everything from:- -Vgé)'g“bg‘fx;ﬁlg(b)ﬁfc. I (5)
(A) Bocks sl (B) Teachers oLt (C) Computer Jud (D) Internet w2

(8) When Uranium (82 Protons) ejects beta particles, -J'L?u:lﬁ"‘f'}i:{ .ﬁgl}l—‘-_cf 616}’:’1&".5 € P 92D (.‘.:4_.,-’. (6)

__ protons will be left in the remaining nucleus. (A) 89 (8) aC (C) 81 (D) 23

(7) In Vacuum all Electromagnetic Waves have the same:- -u]J':v"-guﬁ}g,-v@"-’ﬁf‘-?'rﬁ\,df _:: (7)
(A) Spesd iy (B) Freguency =L/} (C) Amplitude 3£ (D) Wavelength 5%,

(8) ___Is an example of Longitudinal Waves. _c_dv‘fﬂxu ;f-@ )
(A) Sound waves Jys53L- (B) Light waves ;;:u’lfu (C) Radio waves iys/2. (D) Water waves 1{;J ]

(9) Intensity level of sound due to rustiing of leaves is:- -r_-_-.jéﬁiv.fc.,.—!//d/ug {9)
{A) 20 dB (B) 10d3 (Cy 0dB (D) 30dB

(10) The Index of Refraction depends cni-  (A) Focal Length {i@VV;’ -;I-—l‘:u'.»"" AL lu».u (10)

s
(B) The spe=d of light ¢4z Ju’u (C) The image distance /&G_(_Zf' {D) The object distance /‘_L«‘Cr‘)
(11) Five joules of €A 3 PR ulbndl sib-Usuu et/ drbid Livd Lo £l 10C & (11)
work Is needed to shit 10 C charge from one place to another piace. The potential difference between

these two places is:- {AYL.5V B)y 2V {C) 5V 'D) 10V
(12) When we double the voltage in a simple -‘éél_rﬂﬁ'-zﬂj" g -u-;_;/u',ﬁ, B AL P A O (12)
electric circuit. we doulbe the:- {(A) Current =2/ (B) Power L
(C) Resistance % (D) Both Aanc B U B sl A
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SECTION-I (slo

(’7’ 2/ A

Write same question number

3- Attempt any five parts.

®
(i1}

Angle of Reflection.

10=2x5
Describe two properties of Electric Lines of Force.
What is Unit of Capacitance? Define it.

2- Attemptany five parts. 10=2x5 .#},L;m&m&l.c.df -2/le
()  Define Amplitude. T S T N (1
(ii) What Is meant by Damped Oscillation? 4_:!/»5’_.9"{5:!3( (ii)
(i) Define Echo. L2 ASES G
(iv) Whatis meant by Reverberation? 4.;5/95 ..55' (iv)
(v) Define Utltrasound. LAY ()
(vi)  Write down the function of Bronchoscope and Gasiroscope. ")( F) )'=" 21 J‘f s (Vi)
~ (vi)) Define Power of Lens. Write its formula. uf,&(.,! T ﬂ/y'c.u.g(f" (vii)
(vili) Differentiate between Angle of Incidenca and & g','L-g)/\j‘ IJ"/! o SAAET R (i)

- fer Ll 8 3 ANy

e e S AT AL
-u/(Jf‘uu’l 'I’c.kr-qb.j'}ufrf

(i
(i)

(i) Define Electric Potential and write its unit. s LT A, HL 22 G
(iv) State Ohm's Law. -u_)[;l_‘q)b KA ()
(v) Describe two major dangers of Electricity. IS w5 (w)
(vi) Define Mutual Induction. AW e )
(vii) State Lenz's Law. /) _J)/ul..u)l?b’,ﬂ {wi)
(viii} What is meant by Step-up and Step-down Transféjﬂ%ﬁ Sz sdlie o .pl'/ufu.‘.;-m'...l../ (viii)
4- Attempt any five parts. 1052x5 -é{/’—’—}&éi?lél‘_d{ _4/.Jlr
(i) What is meant by Thermionic Emission? i‘aﬂ/tf o F -*le’f (i
(i)  Differentiate between Anajogue and Digital Electronics. AR AAIE S )
(i)  Which is more reiiable between Floppy Disk or a (,,ﬁ';c)_l_a._» Sl ke Al a8 T B P O {11
Hard Disk for storage of data? Give reason.
(iv) Describe the difference between Data and Information, ~SE GRS st S (i)
(v)  How Light Signals are sent through Optical Fibre? ‘__./_4.’."__.:../9\)9 VI (s (v)
(vi) Write the difference between Atomic Number and Atomic Mass Number. = "JA_/./‘ e L {vi)
(vii) How long would it take for complete decay of a A b){,ﬂ); VALE Eigt. el (vii)
pure radioactive atom?
(viii) What is meant by Isctopes of an Element? T e e T wedhs % (viiiy
SECTION-II s
NOTE: - Attempt any two questions. -é{/’&&ii&._«ﬂlnu-df -2 s
5.{A) Explain types of Mechanical Waves 4 = "f__»LuJ»LJI JJJ: (-5
5 = B u e e S ST e 6 E e A o 5D SR .f.f D
(B) The power of a Convex Lens |s 5D. At what disiance the object should be placed from the lense so
that its real and two times larger image is formed?
B8.(A) Find equivalent resistance of a series circuit. 4 =Yg / P JJJ;L»J./ v (-6
-2 0.5 m Lobllra Kzl Ut~ 100 JUC ot sco,uc JWJ ZileMgriates ()
(B) Two bodies are oppositely charged with 500 JAC and 100 {%C. 5 S T (S S
Find the force between two charges if the distance between them in air is 0.5 m.
4 S P B g L3 A (CRO)Y ke 45 (.7
7.(A) Define Cathode Ray Oscllloscope(CRO} and discuss functioning of its different paris.
K 28 st MU g i STE 368 et T e e 10 SIS E L (L)

(B) Half life of a radicactive element is 10 minutes, If the initial count rate is 368 counts S
per minute. Find the time for which count rates reaches 23 counts per minutes
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Note: You have four choices for each objective type question as A, B, C and D. LS e Uleg o i

The cholce which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
In case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER,

Q.No.1 A A
(1) A device which is used to increase or decrease the - b e P WU L i S sl B A2 NG (1)
Alternating Volitage Is calied:-
(A) Motor A (B) Transformer ~41} (C) Generator A (D) Voltmeter A2k,
(2) The presence of a Magnatic Field can be detected by a:- _q_CC\g',tﬁ:;(u'f-zrcCﬂ;‘-@? (2)
(A) Small Mass = Li % \B) Stationary Positive Charge ;.i’;u‘;z‘z/‘.gcj( [
(C) Stationary Negative Charge <.k .84 oL {D) Magnetic Ccmpass Needle = 4 GF
(3) The process by which electrons are emitied by - tu{ tUﬁEJG'/‘:/"?’Lt-}fJJ";ﬁ s A (3)

Hot Metai Surface is known as:-
(A} Boiling &1y (B) Evaporation Jﬁﬁy‘: (C) Conduction /% (D) Thermionic Emission 57

4) The term E-mail stands for:- (A} Emergency mail J—"J"'-'/;A - 2 Y| (4)
(B) Electronic mail e A2 (C) Extfatmail <1251 (D) External mail < f25)
) In Computer Terminclogy Information means - e A LI L G e 2 (5)
(A) Any data Qidﬁf (B) Large data il (O) Réw‘aata_ =532 (D) Processed data kit
Release of energy by the sun is due to:- - BN E i (8)
(A) Nuclear fission 2.3 2% (B) Nuclear fusion 2438253 K5
(C) Burning of gases ,.80((3[../—{ (D) Chemical reaction 2.3 L1
Formula for the Time Period of Mass attached to Spring is - ~s Uit afie Lo e s AL Ly (7)
(A)T:Zn@ (B)Tzzn\{% (C)T=27:\/l—z (D) T=2n‘[g
Sound is form of _____ Energy. ) -ﬁ‘_.(:'u,(,{f" Zil (8)
(A) Electrical £  (B) Mechanical J"—’-’b (C) Thermal JF {D) Chemical &<
Init of Intensity of Sound is:- e K bl S 250 (9)
(A) Wm (B) Wm! (C)y wm® (D) Wm™
___image is formed by Concave Lens on a Screen. -.,—,ra.sz e {u_'/cﬁ {ﬁ’ (10)
(A) Inverted and Real .1 (B) Invertd and Virtual Jz.usi(
(C) Upright and Virtual J2.ssiife (D) Upright and Real (- )
he formula of Capacitance is:- _f_-_u.v',-ss’y"-’ JF’ (1M
(A) ¥C ® % © oV o i

isthe power raling of alamp  —stp.eif 25A =B En LASAS A LDL e sne irf 12V (42)
(A)4BW  (B)145W (C)30W (D)6OW

18(0bj), 7T IX X )-2017(A)-46C00  (MULTAN)

nnected to a 12 V source when it carries 2.5 A current
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